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QUESTION 1

Which EVPN route type would be used in a DCI situation in which the IP subnets between data centers are completely
unique?

A. Type 2
B. Type 3
C.Type 4
D. Type 5

Correct Answer: D

QUESTION 2

Which protocol replicates forwarding information between MC-LAG peers?
A.VCCP

B. ICCP

C.VRRP

D. LLDP

Correct Answer: B

QUESTION 3

You are designing an EBGP IP fabric for a multi-site data center. In this scenario, which two statements are true?
(Choose two.)

A. Public AS numbers must be used.

B. Different AS numbers should be used on all devices.

C. The same AS number should be used on all devices across all data centers.
D. Private AS numbers can be used.

Correct Answer: BD

QUESTION 4
You want to configure redundant Layer 3 gateways.

In this scenario, which two Juniper best practices would accomplish this task? (Choose two.)
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A. configuring both IRB interfaces manually with the same MAC address.

B. allowing Junos to dynamically create the virtual IP address of the IRB interface.

C. configuring both IRB interfaces manually with the same IP address.

D. allowing Junos to dynamically create the virtual MAC address of the IRB interface.

Correct Answer: CD

QUESTION 5

You host a multitenant data center that runs VMware. You must perform deep packet inspection on all inter-tenant traffic
that is flowing between the VMs within the same hypervisor. Your solution must provide the security services without
needing to leave the physical device.

In this scenario, what should you do to solve this problem?

A. Use separate vSwitches to isolate each tenant\\'s networks and use IP tables to evaluate inter-tenant traffic.

B. Use VLANS to isolate each tenant\\'s networks and use an SRX Series device to evaluate inter-tenant traffic.

C. Use a vMX device to isolate each tenant\\'s networks and use with firewall filters to evaluate inter-tenant traffic.

D. Use separate vSwitches to isolate each tenant\\'s networks and use a vVSRX Series device to evaluate inter-tenant
traffic.

Correct Answer: D
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